	[bookmark: _GoBack]
	
	a1
	b1
	c1
	d1
	a2
	b2
	c2
	d2
	a3
	b3
	c3
	d3
	a4
	b4
	c4
	d4
	

	1
	f1(x1) = y1
	(-5)3
	(-5)2
	-5
	1
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	-0,5

	2
	f1(x2) = y2
	(-1,6)3
	(-1,6)2
	-1,6
	1
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0,7

	3
	f2(x2) = y2
	0
	0
	0
	0
	(-1,6)3
	(-1,6)2
	-1,6
	1
	0
	0
	0
	0
	0
	0
	0
	0
	0,7

	4
	f2(x3) = y3
	0
	0
	0
	0
	2,43
	2,42
	2,4
	1
	0
	0
	0
	0
	0
	0
	0
	0
	-0,4

	5
	f3(x3) = y3
	0
	0
	0
	0
	0
	0
	0
	0
	2,43
	2,42
	2,4
	1
	0
	0
	0
	0
	-0,4

	6
	f3(x4) = y4
	0
	0
	0
	0
	0
	0
	0
	0
	4,63
	4,62
	4,6
	1
	0
	0
	0
	0
	0,4

	7
	f4(x4) = y4
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	4,63
	4,62
	4,6
	1
	0,4

	8
	f4(x5) = y5
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	5,63
	5,62
	5,6
	1
	-0,8

	9
	f1´´(x1) = 0
	6∙(-5)
	2
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	10
	f4´´(x5) = 0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	6∙5,6
	2
	0
	0
	0

	11
	f1´(x2) – f2´(x2) = 0
	3∙(1,6)2
	2∙(-1,6)
	1
	0
	-3∙(-1,6)2
	-2∙(-1,6)
	-1
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	12
	f2´(x3) – f3´(x3) = 0
	0
	0
	0
	0
	3∙2,42
	2∙2,4
	1
	0
	-3∙2,42
	-2∙2,4
	-1
	0
	0
	0
	0
	0
	0

	13
	f3´(x4) – f4´(x4) = 0
	0
	0
	0
	0
	0
	0
	0
	0
	3∙4,62
	2∙4,6
	1
	0
	-3∙4,62
	-2∙4,6
	-1
	0
	0

	14
	f1´´(x2) – f2´´(x2) = 0
	6∙(-1,6)
	2
	0
	0
	-6∙(-1,6)
	-2
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	15
	f2´´(x3) – f3´´(x3) = 0
	0
	0
	0
	0
	6∙2,4
	2
	0
	0
	-6∙2,4
	-2
	0
	0
	0
	0
	0
	0
	0

	16
	f3´´(x4) – f3´´(x4) = 0
	0
	0
	0
	0
	0
	0
	0
	0
	6∙4,6
	2
	0
	0
	-6∙4,6
	-2
	0
	0
	0



